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word 0o Bl (5P 2 PREELE ) ¥
" Accuracy is more important than speed in his
accuracy ' , - new job. Chl
1. & re(t), #Ere (1)U
FAREEREI Ny sen e £
1. What he told us was an actual happening.
/Q _/_ ?' O » 2 _ /; P _ﬁ 'i °
T N A
actual g 2. The pickpocket was caught in the actual Ch3
2. G N . .
commission of a crime.
AL - TR Y F R A
vt VL.
1. A& 3R 1.She must learn to adjust herself to English
[(+t0)] life.
2. R REDE W R R 6 R Rt FE e
. 3. R B 2.1 must adjust my watch, it's fast.
adjust T e Ch3
4. (Fre 27 =g (PR & [N endh -1 (AN T v 8
) Vi.
Vi. 2.Astronauts in flight must adjust to
1. 3 & weightlessness.
2. i Js[(+t0)] TR ARHEY TR ERE -
2.He decided to keep off alcohol after the
alcohol accident. Ch2

n.
Loipp; [ ] E[U]IC]
2. 7 iFpE AR, FIU]

AR s, B A AR




n. [C][(+0f)]
O ST
2. ¥

n.
1.What is the amount we owe them?
o @?

2.We need a small amount of fuel.
B —% 2L F rﬁ’{l—;}i °

Vi.

1.The total cost of repairs amounted to

PANE? ’ Vo 0 4 e
E A NE S S C R L4

i. + Ch3
amount \1/| [\;V];E(’ ;[021 US$100. | “
R PELN-SL e
§ ;E % - B 2.Keeping what belongs to another amounts to
stealing.
TR A i*“lfj% °
3.He'll never amount to anything.
Bt g5 A e
1.In the last analysis, the responsibility for this
" failure must lie with the chief engineer.
' EFTF KA PTenE E AN AL O AREF o
analysis L A e CllL] f I%w:s i,ry riuch ileas:d by yojfjnalysis of Ch3
2. [2)##~#[VIC
the situation.
EAE I NS achE s i
n. 1.Biology has practical applications.
Lo g * i@ ER I B A
[U][C] [(+of/to)] 2.1 made an application for a loan.
application |2. ¥ 3¢ R Chi
[C][U][(+toffor)] [+to-v] 3.The appllcatlon of varnish made the desk
3. % % Frt 4 A|[U][C] [shine.
4. * 7 & < [U][(+t0)] FOFREFERD -
a.
aqueous 1 ke Ch3
2. ‘K&
n.[C] n.
1. & 1.He shot an arrow at the hare.
2. BOEESRE - &
arrow i(a‘ﬁ e E )OS |t Ch3

2.The boy arrowed his way to the bus stop.
FRE IZBWR- Fe B E o

Vi.

1.The car arrowed toward the airport.




Vi. AE R e B HR o
1. # - 8 FE i
2. The atmosphere of the city is very much
n. polluted.
1. % # [the S] IRBEHD g F X FIRES L o
2. (% # TFH#re) 7 # [S] 3. The talk was conducted in a cordial
atmosphere L Chs
3. % & [S1] atmosphere.
4. fAB a4 [U] g EABF LT NFF Y FSo
5 (#%#)% B[C] 4. The ancient palace has a lot of atmosphere.
TR XAy G A o
n.
n. 1. He rode away in an automobile.
automobile L [x1eic] BEEA Ch3
a. a.
1. /& ey p #4838 [1. an automobile engine
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n

1. T =324 U][S]
2. ¥ frzr [U][S]
3. T # 4 z[U]
4. = X #2[C]

5. X3 E4[C]

6. T 354 F1F
[C][(+to)]

7. 14304 [C]

8. 1t ¥ [U]

9. A f[U]

10. + #84 i %[the S]

n.
1.1 lost my balance and fell.
FAR i‘fﬁjﬁxj - F o
4.In what way is a laboratory balance different
from a balance found in a store?

B FhA THFE RS A LA G
*e?

j

5.The balance on your account is US$5.
ek = P ARTE L T £ & o

balance Vi. Ch3
1 i T e g eh T g he bal is US$5
2. ifﬁ?}ﬁ ;/L %:L[(+agziinst)] %ATmig ia;c;;r; ?;r ;czuont )y |
3. RA ﬁ_’%’ ',”,#B # 2.The judge balanced the contention of both
4, % 2 TH G E .
5. it parties. |

= ERE B ana gk
[(+off/out/up)] .
6. i fcd T 5.Wage _m_crease was balanced off by rising
Vi cost of living.
R T LT T o e o
2 ot
3. A4 [(+out)]
4. fc it T gF
n.[C] 1. The barometer falls.
L § R A A FRTHT (R ETAT o)
barometer o i i Chb

2. [+6 15 = % A7 % 1 |2. The stock market is a barometer of business.
HIE N ] imﬂ}%r‘u%‘\ °
a.
1. = ~anz gizad =
LA ?s\ )

binary n Ch4
1 - - Ew
2. = &H#K
3 B+ i




bounce

VI.
1. (3k)5EAz, H v
2. (A )R (AR); BE B Bl o
[Q]
3.(% B)IEH A 198 %
B L«
4, [L#F) x4
vt.
1. 3p(3k); @ A
2. & pr4=[0]
3. (G ik £)F
#
4. [#] strop, ok
[(+into/out of)]

[i2] fz i fr4,E D

5
n.

1. &, F 385 5[C]

2. 4 B [U]

3. [# ]2 ske[U][S1]
4. =4 @ a[U]

5. [®] f# % ;5% [the S]
ad.

1 F2p - T 3R 2R

Vi.

1. The football bounced off the goalpost.
R ¥ sp s 4o

2. Upon hearing shouts of "Help", he bounced
out of the house.

- EIG AR e jf‘u’rir‘r:". B+ o
3. Her check has bounced.

X LR A 3w o

VL.

2. She bounced the child on her knees.
Wl I AR R EI o

3. That TV program was bounced from a
satellite in space.

RBRAGD Ed X3 iFEh o
5. After starting a fight, he was bounced from
the pub.

Bl RE fS, B ABLFPREE LK o

5. He was bounced out of college.
wﬁagwﬁno

n.

1. He got on the bus in a single bounce.
fo — )i%ji&,j R A

2. The ball has lost its bounce.
Bk 4 3 A4 o

4. There is bounce in his step.

fo A% {‘-’;ﬁ @ ET o
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n.[C]

1o #3 F%F &

2. 3N, fz‘\[Pl]

3. BB AR, E BB R

4, (R R % .@k)m&

n.[C]

1328 %+

A bracket may be used to hold up a shelf or a
candle.

FRET R FR S

2. > 3N 3N PL]

The comments in brackets are the author's.

bracket 1 G 8y 2T [y ansi quﬁ €77 0 Ch4
cd 3. BB AR, E BB A
2. F FELINGE This book is written for the 10-to-11 age
3. Bl bracket.
4 . ff - A A e A S LRS- RER S f e
# T 3% [(+with)] Their incomes are brought into a higher
5. # KT [(+off)] bracket.
e r e - BRE DEERE
1.People who work in libraries spend a lot of
vt time classifying book§. ) /
A O LN %@%%J S
b gm o H owef oW 4 PP °
classify %;)%"'Eﬁ G 1.Eqggs are classified according to size. Chl
3[4z Ry [T b EEe
3.The government has classified this
R information secret.
FORRE R TR A
a.
1. £ iT% g9, &8 (Ten
coefficient |n. Ch3
1. tak 72
2. [#] [#] fdc
1. The collection of these stamps took ten
o years.
gk g boponule) [FEEEREES SRR
e 5y 2. He has a very good collection of foreign
collection 2 e g i 5 [C coins. Chs
3. i, E B [C] R o A
4. 5?5\;9: ﬁﬂh%{\, ;!_ R .
3. take up a collection
[CI[S1][(+of)] ¥

4. There is a collection of dust in an unused




room.
ZEFFDSEFF A

Bk -

n.[U]
) 1. % 1.spontaneous combustion
combustion . L Ch3
2. 3 1 Bk
3. & hjprd 5 e R
n.[C]
1L REF IV EFAHESD
2. EF A E S :
compound . prEE e 1. "Broad-shouldered" is a compound word. Ch4
"Broad-shouldered" &_i# 4§ & F -
1. & % ehdg & iR & ch y R e
2. [2)idgéen g
1. Wood cuttings and sawdust can be
. compressed into boards.
vt.[(+into)] A ek T R
I a5 Rl o
compress |1 Fi@?‘@ﬂﬁ " _ i Ch5
. e 2. Can you compress your speech into five
2. FF O PEAE M ,
minutes?
Tnicde Rerpisi b i 5 1 A 48587
a
1. ¢ ¢
concentrated [2. [it] kg Ch3
3. A e 24 AL
n.[C]
2. (&£ B ~ 25 ¥ 57)4 |1 the conductor of an expedition
i B LR R &
conductor WETETE Ch4

3.(fH ~w L) ¥,

[£]) (V2 en)gd pRAx
A
4. [#] ¥8,w 35 &

4. Copper is a good conductor of electricity.
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1.Conservation is one way to make sure we

n.[U][(+0 .
1 [ i[f 0l have enough energy in the future.
. R F
o [H B BT RSRERES PR Ly
conservation |2. (¥ p R F k) iwE, B Ch2
m(ﬁg PREVERT s e gy -
- 3.conservation of mass
3 [#]1 =42 .
FEE
1.1 assure you my actions will correspond with
my words.
Vi. Ao 0GR, BT - Koo
1. # &,- &[(+to/with)] [2.The American Congress corresponds to the
correspond . ) Ch3
2. 10 % 40 J&[(+10)] British Parliament.
3. i iz [(+with)] FRAE A EREE -
3.Have you been corresponding with him?
- e i Be5?
VL.
1. The lawyer demonstrated that the witness
was lying.
(e i A A S s A
vt
2. The doctor demonstrated the harmful effects
1. %3, 7P [+(that)]
PRV of tobacco.
2.(’1+ B 1?‘}'1‘3;)?’”"‘15191 o a-
, %i“?fidéﬁaﬂ“ﬁ.—ﬂrmri’mﬁ%’“
H[rwh] 3. The salesperson demonstrated a ne
. re ot _ : w
demonstrate [3. 7§ (T(A &), & 7T . Per Ch4
A B 3@ washing machine.
RO, R ” 2 s .
TR Jal R T e (AT SR 2 o
Vi.
. 4. This fully demonstrates their willingness to
S REEE R o :
_ cooperate.
[(+against)] p
AP PR E T
Vi.
1. The workers demonstrated for higher wages.
I A& R F o
1.Mediterranean scenes depicted in these
‘ paintings
VL.
. e F P g P BRI
depict 1 & N PR Ch3
o 2.The book depicts him as a rather unpleasant
2. Wit H B

character.

ShRER AR BE- B LA E AL




vt
1. 8,4 3| [(+from)]

Vt.
1.She derives great pleasure from her stamp
collection.

2. FFA A1 D [(+Hfrom)] e B 2R P S S B4 o
derive 3. 3l¢ I 4z 5[(+from)] |2.Many English words are derived from Latin. Ch2
Vi. FIEERXFIRWERETE
1. 42k, 4 K[(+from)] Vi.
2. 74 A [(+from)] 1.This English word derives from French.
T RER FREEE
VL.
1.She determined to go that very afternoon.
g R AR T X io
vi. 2.My mom's encouragement determined me to
1. i+ =z [+to-v][+(that)] go on with my study.
2. @A, T A AR LA i A K -
[H][O2] 2.He was determined to win the game.
3. HA B Z[Y][H(that)] | s & Jo B 7RH F o
determine |4. #x %;ip] Z[+wh-] 3.The court determined that the man was guilty] Ch3
5. &..eA-T F1%,;2) =, |of drunken driving.
B EEFIAIRE A FPEE S G B oo
Vi. 4.They have determined where the new school
1. A=z [(+on)] will be built.
2. [#&]) ¥k ;2 B e FE RS TATIE ekt g A A
5.Demand determines supply.
2 RA T o
" 1 $Hicich
1. #HHchcdh e . )
e . J Clouds cause the diffusion of light from the
diffusion 2. B E 2 Ch5
3. R sun.

4. [+ ) & 53%4%

SRR




Vt.

\1/t — 1. She diluted the concentrated fruit juice with
2. WI55;% i water. y
: Wk RS R R
dilute \1” %ﬁﬁ‘g i (flil?.te:h% zreident's influence Ch3
N 133 AL &
L i A
2 5 eh 1. dllut_e whisky
#Hokw L&
. _ a.
disproportionate 1 3 s qpfien Ch4
) ) vt
dissociate LA A Ch4
vt
1. »f% vt.
2. @R R g1 i R 1t |2, Water dissolves salt.
3. R B KIAFRH o
4, FRAGER 3. They dissolved their marriage.
5. &P v, f2(a) e R o
Vi. 5.The mystery remains to be dissolved.
dissolve L ‘/”\ f2 o ?T; BRA FRR Cha
2. B fE R R Vi.
3. (GR € ¥)f240;(¥5 9 %) 2. Sugar dissolves in water.
o) WEB TR e
4. g # 311t [(+in/into)]  |3. Parliament dissolved.
5 4 R ES T
n. 5. The coach dissolved into the blackness.
L(RR, RN Fm i |58 )4 A2 ¥ o
%, 4 - % o [U]
a.
divisible 1 ¥ & v & g 2. 8isdivisible by 2. ch
[(+into)] 8 #u 4K 2 % z
2. [#] 7 % & c(+by)]
ad. 1.They attempted to make the system work
1. 5 ki 24 2xds more effectively.
effectively 2. %%+ P EBRE LRI ITEL G %k Ch3
3. F * ¥ % AFERE % |2.Effectively, their response was a refusal.
$ FEL B PDE A - fAIES o




n.
effusion LB /A ) Ch5
2. vk F o 7] enfi R on
3. [#1 x4
\"#
vt 1. The police ejected the noisy group from the
* fh' e i” [(+from)] z’siiiia;;iiv/ BHem A 3B 410 AR o
eject vil A They were ejected because they had not paid Ch7
o vaw ., |their rent.
lﬂ'z (;\Uk PR tE BPEA R S AR AL I o
2. The chimney ejects smoke.
ek IR K e
VL.
\1/t Sors b o 1_. The chimney emitted thick smoke into the
. e n s air.
emit 2;’51‘%«(7&5&—?‘%),%51% %Y L IR - Ch7
?:E]. (AR E) % 2. John emltted‘a few curses.
KRz Sl SR A
a.
O e B\ Y
empirical ;I;ij :f%‘) - 5 Ch3
2. B(} )
1. 3x2=6Iisanequation.
2.The two countries have been trying to
n. maintain their military equation.
. 1 [#] > &2 0 Clled BRFe Ea 4 A¥Fe PaiL T
equation . _ Ch3
2. #p & ;T #7324 U]C] |# -
3. &g #[U] 2.military equation
BE T
3. X2=6EBE;-
essentially ad. Ch4

FEL AR




1 2230 2 k07% 1.0ur hospital was established in 1950.
2. FEZ R B IIRGLR 2 [P ahF gt - 4 T OF o
B [(+as/in)] 2.She established her fame as an actress.
establish [3. % .4 P e R G LHHAUTR o Ch3
[+that][+wh-] 3.The new evidence establishes the suspect's
4, % ¥ guilt.
#'J TR T RMEREFTERFF B o
. s W#([H]
Vi
. L X 1. The village was evacuated because of flood.
1. Fez ol . Hol o ? 2 e
d 3N KB HF 2 Sheg oo
2. l%:ﬁfiﬁ e 5 . :
evacuate 2. The civilians were evacuated from the city Chb
[(+rom)] to farms
30 E (5 & %)E() ' .
#RO AR 2y s imsrer o st -
iR
n.
' ’iﬁ;b%‘!FEVF !F-& A 477 # "
(U][(+offor)][+that][+to-V] 1.He was punished for giving false evidence.
2 B BFERES L PET
i ' .The evidence is very shaky.
evidence  [[U][C][(+0f)][+(that)] e . Ch3
e TEpAE A Ao
3. 3 L ’%‘F' [U] .
ut 2.There are evidences that somebody has been
1.' - living here.
4 , BE — *# __—‘/:‘J%);“o
2. Bor &P R A - B AR
ad 1. She writes exclusively for New York Times.
' PEML (BNFFE) B -
exclusively |1 &6 4 & Mr (BAEE) AR Cha
o 2. This room is exclusively for women.
2. Bk b g )
RS SN R
1.This is an experimental form of teaching.
a. A - AR REORTAN
experimental |1. ® Sk {385 29 [2.There is no experimental evidence for the Ch3

T

2. 7

theory.
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Vi.

1. (GP-k&E)md
2. R4
3. (8 )ik 2

4. (575, % PR)ET ML b
ml #

5 & p, %k p [(+from/out

Vi.

1.The river Thames flows into the North Sea.
%E%ii?ﬁ»#“iﬁ °

3. After the concert the people flowed out of
the hall.

FEE A PF BRIk

4. Her hair flowed over her shoulders.

of)]
o AR oo
flow vt. PR = ) Ch4
e 5. Wealth flows from industry and economy.
1. F#8,# % o
MehpoBaaig-e
n.
n.
1. sw o #s [S][(+of)] o
2 TR 2. This will more accurately reflect the flow of
[é]£(+of;] P your thoughts.
B Lok Arl F PR ineanfiE o
3. ki L [Cllthe TR A MR E R
3. The tide is on the flow.
S][(+of)] .
, I kR o
4. (% PR, 25 5 )m 2 U]
fluoresce Vi Ch7
1. %%
n.
1 (Bpes % n) g * 3 &, |1."How do you do?" is a polite formula.
% 33(C] "ok LR F R
2. 1 &, % R, 80, % |2.A formula for settling the border dispute has
[C][(+for)] been worked out.
formula  [3. fe > i [C][(+for)] |= &3 - BfEAER Vo> % o Ch2
4. [#] =547 &5 3.The formula of the medicine is still a secret.
[CI[(+fon)] $FF g s -
5. [t 14 = s[C][(+for)]|6.The formula of the medicine is still a secret.
6. [£]) ptls i iddn|pt Eofe = v a0 o
He 2ok [U]
1. Accidents are happening with increasing
frequency.
n. Er &,ﬁétﬁﬁ‘?% w4 oo
1. #% &k =[U 2. the frequency of death
frequency PR A= U] a y Ch7

2. 4%, 4[C]
3. [#14%:% $[CI]

v = ;};E _‘$
3. This radio station broadcasts on three
different frequencies.

TFRE AN P AR -




a.
1. i
functional  [2. BkA3b e fdzi®® b Ch2
3. F*
4. [#] >dih
1.People have proposed all sorts of hypotheses
hypothesis n. to explain why dinosaurs have become extinct. Cha
1. i, & [C] AR ARG AT AT P A g
'/é‘ i o
VL.
VL. 1.She identified him as her attacker.
1 FEsadul #E P [eudie )I%%L‘a'é S SR
[(+as)] 1.1 cannot identify this signature.
2. o (BL)ER-FF |PN@Bu2 NG EF o
[(+with)] 2.Never identify wealth with happiness.
identify 3. @ %y LT FE I ERMEIrEAEERA L - Ch3
[(+with)] 3.The politician refused to identify himself
4, I FE T with the Administration's foreign policy.
vi. PR Fie FIEF A FFFCF LR -
1.(&. )Rk - Rk 2\
o [(+W|th)] 1.1 identified with the heroine of the novel.
Ao e FPRBLA DA SR B EE o
ad.
indirectly |1, FFd&$ 1T 1% o 4 i b Cch3
F ok F
2 4 E g E[UIC] i\ F)Bur/glitzmobi!e*irl(?ustry is expanding.
industry [2. 1 g %sF> 4 F | ' mﬂ—l%ﬁtﬁ e Cha
U] 3. Indusiry and thrift favor success.
3. ¥ #2[U] pEfaRypwast
a.
inorganic 2 &4 g ih Ch2
3. [+]) e




1.Elevators must undergo an annual safety

n.[C][U] inspection.
inspection |1. ¥ % ¥ %% Ak THOIEEET- Z 24 - 2.an Ch3
2. W ARE inspection of the troops
W B8R
n.
integer 1. =T b AR Ch3
2. [#&] ¥
VL.
1.We have to interpret his words in a modern
” light.
L AR 2 H i R RS BB KRR R
2. 52 i [(+as)] 2:We interpret a frown as a sign of
3. ¢ les,afproval' y s -
interpret  |4. (145 p @ TRf)F =, UG R g_jz\’ e Ch3
. 4.Not everybody agreed with the way she
vil interpreted the violin concerto, but it was still a
o technically perfect performance.
1 e a8 e o 1 s s s
2. 1T F B LA R LK TS m%—
B A iy E AP v I HEY F oo vi
2.Would you like me to interpret for you?
A E fifT g ?
n. 1.He majors in Russian literature.
1. >8> 8irm[UJ[C] [+ L1 KRBT & o
literature 2. = 1I§J< B F4L[U][C] [2.She went through the literature on the Ch3
3. [r]) =r&[U] subject.
4. B 17 (£)[U] AR M- FRETA
. 1.Without a timepiece, the measurement of
L k£ (U] :T; Zrlo;a,;y%uw G
measurement. (2. 1 £ it < [U] 3.The m};as;re;nints ;)f :h:e room are 10 by 15 chl
3.k —-} ’—k ] ,_FE f)t:;(—é- ,tJ; ot
#0) = B [P] e ax e
@Iﬁ%@mmﬁﬁ 10x15 & = o
n.
7 7 . b
metalloid ; FERAER chs
1 & & ez g




a.
1. % i A HCARAL 3]

S| e

1.a microscopic plant
- B i A RS g T e e

2.Some insects have microscopic vision.

MICTOSCOPIC o mepcsn et et |- 2 & B3 b pcerin 4 Ch3
3. Bt ey * B pcgR <P |3.make a microscopic examination
[B] F— Xt 4
molecuilar 1 AT ehrd A A ih Ch2
1. The molten lava ran down the mountain.
S H) 424 ok t .
2. AR ficdsan Y
a.
1.a person of multiple achievements
a. - fﬁﬁs%ﬁ'%;}ér&ﬁ&éﬁA
1. d 3% 5 384 = e4f  [1.We use the hall for multiple purposes.
L b Hen T AR A 4 o
] 2. % A% 5 (& %+)s  |lamultiple choice test
multiple , e e s Ch2
30 []) & miem b ieh |- 46 5 70 & B AL Pl
n.[C] 2.be of multiple ownership
1 [#] R 5 AE R
2. T B SR kAR n.
1. 10isamultiple of 5.
10 #.5 iz #ic -
a.
1.0xygen is necessary for life.
i: @R A E 1.1t is necessary that he be sent there at once.
R - PRSI E
[(+for/to)] )
o . 2.Poor health is a necessary result of
necessary |2. & R 2 ¥ A D Ch3

n.
L &g i 3

[P1]

over-exertion.

WBTERAY R RE%E o

n.

1.She has enough money to obtain the
necessaries of life.

¥ AR 2 EN T o




a.

1.He gave me a negative answer.
B A BEANEE

a.
e 2.Their criticism was not negative.
L #2mE e WO EY 2§ 4 G b
923 E =2 T X W E o
2. F & i) fmeh 2 M tF - . it
, . Minus ten is a negative quantity.
3. [#]) f +12) og .
4. [R] § hieaZ] T :
b 6.The tests for hepatitis were negative.
5. [%] }%1 m[Z] B;\L:%ﬁﬁl“}‘% afé\'rﬂ' o
6. [#] &1z s A
n.[C] n[C]
L . |1. His answer to my request was a negative.
- 1' ?' %%E::?;?' ,Lm‘}' 5 PAVEEESS T g L P - [ el
negative (S gk R) EARan o S U IR %50 Cha
E e A . . .
2 [+ % %sE 2. In Latin, two negatives in the same sentence
. L& I
3 [#]) ¢ g(w always amounted to an affirmation.
' ‘ WP 2P A BE LR H Lo
4 [RIBTHEE | A E
Vi
5. [#] A+ :
‘ 1.Father negatived our plan.
Vi.
CIHE F AP ety .
L 2 & 2\ The@suk )estior; Wan :eJ atived by the school
2. B4R [H] b. ] g g y
oard.
3. 4 ol v oy b .
TRARKTLREE A0 -
2.The bill was negatived.
THELI B
. a.
o . ... |1. His friend is a man of noble mind.
L 3§ 4 g o o e
- , B A EBREER W DL
2. BB freh _ .
e 2. Washington memorial is a noble monument.
ol 3. F R AR n ST AR RS Chs
noble e AN X2 g
4 (£R)EER (1] PR .
o . |3. It was said that he was from a noble family.
w4 a(F R ke ,
:}7;—,\":;?,‘_,@5 l _E/’%f-“%‘ k73 m;_o
n.
4. Helium is a noble gas.
1. % *%[C][P1] e m :
n. 1. Music has a special system of notation.
1. =i [U] R RIS
notation  [2. =L, R3E; & ¥, #3¥ |3, He made a notation on his engagement Ch8

5L[C][S1]
3. ¥ 331,3e45[C)

calendar.
BAEXEg PR ED ga;ﬁ °




alz] 2.0rganic evolution
ey : ic evoluti
A ) 4 de
23 B2 4 Bl ;or ;lic chemistr
RO R R I Vb
organic  [4. B+ EH AT F D f _ Ch2
N » ., |4. an organic whole
5. ez dla K A
Tl 4 1 s 7‘5;’;: 3]
, g s F #ﬁm.m 18
6. %g?’)gﬁ&’wﬁ:im 5 th |
e o .the organic law
7. [%5] RS ER g
a. a.
1. &4~ en, & ke 455 [1.The original price of the car was a bit too
[Z][B] high.
2. F Z&ﬁﬁ'l'riﬁﬂ;%‘r%sﬁﬁﬂ;% TiRA B R B0 - B
Frn 2.He is an original dramatist.
3. R ive & ¢h[B] 8 B AR T R
.. n. 3.This is an original painting by Picasso.
original R I _ A Ch3
L ¥ hE R&A A% |Ed-HEF R 7o
[C] n.
2. ¥ 2 3% % ;R < [the |1.The original of this picture was nowhere to
S] be found.
3. 3 B d ehR e BAK R o
4. 3 Bl L [C] 2.He can read Shakespeare in the original.
5. 4 [C] BaFd L T iERPRY o
n.
n.
oxidation 1. anodic oxidation Ch4
L § = (ie7)[U]

iy i




a.

1 ke 2o v o
[Z][B]

2. #F g o
[Z][B]

3. (#B3) @ g 3 foeh,

a.
1.The teacher showed particular concern for
the disabled child.

EEFAF U RS PRBE A R B2 o

2.Her particular way of smiling left a good
impression on me.

WG R A G T 0 F 45 ehEr 4 0 3.She
is particular about what she eats.

oA ET v o

4.The witness gave us a particular account of

particular [ 7|0 Ch3
[(+aboutioven][(+wh)] | "Te" Mappened.
, i il Sl sk A a ik Rl AN A RIS
4. ‘mik i i e[B] A
n. b
1 @uauEa mp[C] | _ N
2. s it [P] 1.The [I)artlcular may have to be satisfied to the
, , general.
3. #E I SAEXBRM B ucrIE p 4 A F A
2. | suppose the secretary knows the particulars
of the plan.
AR AT i o - P anE TR o
1. They walked along the path through the
n.[C] woods.
1) is, ] B WO EFHE P RAL -
path 2. BRI 2. His path through life was hard. Ch5
[(+through)] CRE R & Al A T
3. BAR, g [(+of)] 3. The path of an arrow is a curve.
e § - 1 AR o
a.[Z][B]
1. 8 (i 2 4y
e i ER R, - :
eriodic 2. pra g A4 e (1) |1, the periodic motion of a planet cho

i
3. ] BBy ondic

]

75 ik i F e

4 () =g




a.

1. F& TEFER n

2. FER G p G en
[F][(+0f/about)][+(that)]
3. F4ten

4, FAmen R e

=+ [P [ A oz
5. ER e RAT feh

a.
1. There is positive proof that he did it.
FREROREREN B R EEE
2. Are you positive that you saw him?
D S g —ﬁ 3]s g ?

[Z][B] 4.He has a positive attitude towards life.
6. [v] 22ehpen [BHA EHFT FiRDER -
[Z][B] 5.Light is a positive thing; darkness is only the
7. [=] haa[Z] absence of light.
positive  [8. [#] & #1[Z] SR SR LI - B i Ch4
9. [# ] & =15 1+7[Z] |6. He is a positive fool.
10. [#&]) & % e foen|is - B L Zehig K o
[Z] 7. "Good" is the positive form of the adjective,
11 [¥#]1 B "better" is the comparative.
n.[C] "N %A, W enp e A L Uk o
1. F % 8. Five is a positive number.
2. 1% RS
3. [=] &x[the S] 11.The blood tests were positive.
4, [#] o #& o R T
5 [#&]) & %, %
6. (%7 )&
n.[U]
1 Mra(fd)# 5 (k) %
FE(t)me 7 (1) n.
o 2. ar(1); P FE (1) 1.Scientific instruments have to be made with
precision e . Chl
3. Bk great precision.
4. % Foik & PEREBOUBLFAETHG -
a.[Z]
1. M rg e &b
n. 1.1 take this seriously. It's a matter of principle.
1. R R REC] FHPEGRE o e R AR -
2. i &, iE[C] 3.The two machines work on the same
principle  [3. (8B * ) RZ; 1  |principle. Ch1
#1153 2] A IS BT (T RILE - o
4. i &, a4 [U] 4.He is a man of high principle.
5. 42k, *h s B & By Ao




1.They came here in search of new markets for
their products.

n.
. T RN N 2 8). B2 B B> o)
2. 5% A%
oroduct 3. feg gl i ;‘Ir':fz Iplﬁz L:/;r;i the product of many days of Ch3
4. [#] (F)H S
5. L[] (147 fer)s
& 4 4. 20isthe product of 5and 4.
- L AT Be e
1.This small house is my only property.
Tl 5+ E A arE- A o
2.He has several properties in this street.
BoripiEgtl gy BEE A
n. 2.With the city developing rapidly, property in
1. A, 5 A,%73 #[U] [the center is becoming more expensive.
2. S A A, 58 4 TS FRELED P e ARG
proterity LC]Y] , P . Chl
3. R EL=z[C] 2.He has a large property in the county.
4, FHH M BHE[C B hpBRAF - X P A
5. i E[P1] 4.He is studying the medicinal properties of
6. “77 1,0 2 #[U] wild plants.
BE AP AL hER .
6.He is studying the medicinal properties of
wild plants.
T GETE S e B g o
a.
1. ¥, 2 e emiE |1, Is the cup made of pure gold?
2K T ALY & g ?
2. ¥ E R E o) Fiaceh |2, The air by the sea is pure and healthy.
pure 3. BFeh e L e [AFh F AT FERERE - Ch4

4. (B¢ B3 )w e a
i

% 2 e, K _[Z][B]
6. %I e % +[B]

5. It was pure luck that he was home when we

called.

AFFE AP TERES R




n.
1 2 2 ey, L s d
#l[C][the S][(+0f)]

2. % [, # Fl[the S][(+of)]

1. There are three lakes within a radius of five
miles.

radius 3 fp sk s (B ) |FFIEL2ZPGF = BB CHS8
{5 % [C] 2. within the radius of one's experience
4. [f=]) #*[C] B A 5'.56%%‘] R
5 [#] i&=%][C]
6. [ ] i=*%[C]
1.The ratio of students to teachers is 35:1.
% 41[[—._4153;:—,7;!4 & K: LTt o
i n[C] 1.Th f15105is 3 to 1. Ch3
ratio 1wt e [#) 06 e ratio o to5is 3 to
,L;r ,—}a—r Lk ‘éq\, WL — o
1.We divided it in the ratio 3:1.
NPT A G2 2 b o
n.
1. s W [UIICT[(+in)]
2. M) [UI[C][(+in)] 1. reduction of household expenses
3. F R MR TR & P e il
U][(+to 3. reduction of an embassy to a liaison office
reduction [V][(+10)] y Ch4

e

4%, 45 [C]
42,% 1 [U][(+10)]
GO
(4] i . UIIC]
[ 185 (7 *)UIC]

O N o O

< AR L TR i
5. reduction to ashes
it ‘f} J;\JL%;‘




Vt.
1.This picture represents a scene at King
. Arthur's court.
Vi.
TtE Rt g T &L F - BHa 02.The
1.ﬁ‘§§,($}é?<£‘4)zti?u ~e§§#ﬁﬁ’4 B it ]
s dove represents peace.
2. ?('{g(!z"ﬂ“ P, @\ﬁ T
B3 % oL o
3. L it 4 ™ ‘&j
b4 A 4 EH] 3.The¥t:a|d that they represented the
S b eyl e committee.
5' Eﬁ‘:;\—gljggﬂ; [VV] 20 gy =2 20 4 2\ >
6. #-4¢[(+as)][02] GirEE PR AL R g
: i[(+as
represent " ]:’ P 4.All the different races of the country were Ch3
R Lk 2
[(+10)] PrrATA represented at the parade.
8. b i 4 GES G URERESEA
20 ) .
0. i 4.The mu.seum had .several paintings
) representing the artist's early style.
Vi.
gk bnd 4 &b d p B 2 N 2 (F o
1 4 AR R
. . 6.He represented the plan as practical.
2 RABHANBEK | prn et
s Bfi 4179 ¥ {7 - 8.Each child will
represent an animal at the party.
FE P B BT RIF- Ad P o
1.The roof requires repairing.
ERZERBILT o
VLIW] 1Th'j roject will require less mone
: Thi wi ui :
o L ERDvngan [ R ’ s
re Ulre B LA B2 e, ’L’“‘\ 2 o
| 2 (Y& w6t | TR
2.The director required that we should work all
[(+of)][O2][+that] :
night.
A ® RApEE T T




reverse

S A e

=

B i8] e
E LK e

Faehkgh

B i), e

2. 1 fEi%, 1 W £
3. TR

e

PO DdE S P

[£] dad5csd

539, 5] 5

1p & [the S][(+of)]

% & ,F & [the S
37,4 e % [C]
733, i), ~ v [U][C]

a.
1. in reverse order

= B (3]

2. This time it came in the reverse direction.
B- v BAEAPF G % ke

3. She then looked at the reverse side of the
coin.

BFE RO FREDE G

VL.

1. Their positions are now reversed.

WP I AR kT o

His coat can be reversed when it begins to rain.
Bttt T R PR AERT o

2. He reversed his car into the garage.

o je B F FHFED R o

3. She reversed her views.

WA R T F

4. The court reversed its decision.

2 Rt 1 R Rk en) i o

Vi.

1. Alternating current reverses from negative
to positive about 60 times a second.

ERTEA I NI /7 NG E F: e g

n.

1. They did the reverse of what the teacher told
them to do.

@O e X en® fqp E oo

The truth is just the reverse.
LW

2. The reverse of the coin was stamped with an
eagle.

F R G BRE e E - B o

3. His career met with many reverses.

BoenE E DS R

4. Drive the automobile in reverse until you get
out of the alley.

FEED IR ZEES o

Ch8




yei % )

4. (5% 4 105 ) SR,

n.
1. He has an efficient business setup.
- By ol R AR -

setup A E ) B G 1.This is a nice setup, did you hire an interior Ch3
5. [r ) (#4F#c) kg £ |decorator?
pe R ol o R [ B R RGE, T RN KRR ?
6. [ )]s E#i- >
R Rl S E
FEETap &
7. []) % %,%ﬁ’f’(
n.
solute LoDt T s s Ch3
a.
1. 7 fach
1. It may take a long time to find a solution to
n. the problem.
1 28,2 E2) 38 P FLEEREER A a2 B
[C][(+to/of /for)] PHiE o
2. [#] f#:%,f25°[C] |1.The solution of the problem requires a lot of
_ 3. BRI BIERE time.
solution U] (R ERATS R SR - Ch3
4. % 7%, A[C]U] 3.Salt can be held in solution in water.
5. % f&;¢ %) #2[CI[V] [@ itk o
6. [#] (773 % (¥ |4.She rinsed her mouth with a solution of salt
8 H5a) e 7[U] in water.
o BAURBRRT o
a.
1§ a4 en
2. % B frden -
solvent n[C] 1. They need the money to stay solvent. Ch3

2. Rk

RSV SN L L




n.[C]
L[+ ] w3

(% & sk st

1. They could look at the spectra of the light

the moons reflected.
B PE R R K Sk gk oo

2
spectrum 3. [R] R 4. There is a wide spectrum of opinions on this chr
4. k34 &, g R [(+of)] |question.
5 [=]) % LT BRI FLA RO Lo
Vi.
Vi. 1. She speculated about her friend's motives.
(IR ST INE 1. 472 b4 FRE PP s 4 o
[(+on/upon/about)] 2. He speculated successfully in mining shares.
speculate 2. AT ¢ BT E LD S EE X o Ch4
[(+in)] Vt.
vt. 1. He was speculating that this might be his
1. Faip, e %[ Y][+that] last chance.
B AEPIET A A kS - B g e
The storeroom held the trunks and other
storeroom L sz 5 [C) household stuff. Ch2
HREERFRRE RV RY P&
1.He is an expert in military strategy.
©EEE R L R
" 2.The government adopted a strategy of
1, ors s 5 [U] n?assn{e deﬂfla’tlon.wax o
strategy 2 ek b FORFER B~ & %fs—T Hgal pehiReg o Ch3
2.By careful strategy he managed to push the
[CI[(+for)][+to-V]
proposal through.
WG F IR eed], b 2w R R EEU
0§ o
n. 1.Ice and snow are different forms of the same
1. # F[C] substance, water.
FREATT A e 2 ke P T3 )50 Slce
[U] and snow are different forms of the same
substance .. v Ch3
3. ~q,iq,;%& &,E & [substance, water.
[U] ,J\'frf’_ AR P T Bt o
4. P4 A, P4 $ [U] 4. ater he became a man of substance.

5. (F# )% 9,2 A[U]

Bk, B A AR F A A




vt.

1. 252 #[(+from)]

VL.
1. 5252 #[(+from)]

substract Ch5
Vi. Subtract 3 from 7 and you have 4.
1. wupi “RrZFw o
VL.
1.He switched the light on.
IR
n.[C] 2.Hang on, please. I'll switch you to the
1. B, 2 M, % manager.
2. () EacE, [£] [ S H L F - A G RHERTGIEINTL .
B Bl 3.They switched the train to the other track.
3. (BHR) A renimi B |# Pl R E Y - g oo
4. %L g, {0t 4.They switched the talk to a more interesting
5 [ ] a4, 24 subject.
6. (& * ) B (B F |6 P R g ABREp 2T o
) e X L 5.The girls switched hats.
vt. S IEF LA T oo
1. B (M H)...cnB B [6.Mr. Wallace switched his son with his
[(+on/off)] walking stick.
switch 2. e s L HEE(T A#LAEA B IR DT o Ch3
7% )[(+to/over)] n.
3. i 1.You pressed the wrong switch.

4. A
5. [ ] 2#
6. L3

Vi.

1 #i

2. U [(+10)]
3. (N RBEH)RE B
[(+on/off)]

4. ¥4

5. [ ] 2#

g BA o

4.There's been a switch in our plans.
Aot g o

5.1 asked him why he'd made the switch.
AR L AREREAE

Vi.

2.He studied chemistry and then switched to
biology.

BREAFEME S RFAP o

5.1 am on duty tomorrow. I'll have to switch
with someone to go to your party.

PR EIT o A FripiE - TFLA] N2 St

i/%: ]/FB E’f",%}\g °




n.[C]
1. % #5345 (+of)]

n.
1.The white bird is a symbol of freedom.

ipv Jenk L pd g

symbol \th 7o i 5 (+or)] 2.We use x as the symbol for an unknown Ch3
s quantity. ]
Nt x £ — B ASTH
Vi
synthesize |1. % &;& = Ch3
2. [t]) ()&=
themochemistry 2 poie Ché
VL.
1. 1 will transmit the money by special
messenger.
vt. NRE PR FEIRER o
1. B B 2. They are trying to find a better way of
2. (R~ £~ BX); @ #|transmitting energy.
t 3. it @y @ [(+t0)] SRR R/ R G L TR
ransmit L i . Ch4
4. 3 53 3% [(+t0)] 3. Genes are transmitted from one generation
5. @3, 4 [(+t0)] to another.
Vi. AFRE4pig o
1. 43 5L 83 4. The message was transmitted by radio.
R BRTFES
5. Rats transmit disease.
R R R
. 1.The hour is a unit of time.
1. H 8 ~[C] PREAEEEE .
2 (2487 - .- F 1.The fam!Iy‘ls asoclal unit.
Fed - BALE H & oo
gci?}: §% ) £ Z.We regard hus.band and wife as the primary
- units of the family.
unit <1 [C] g A LRGSR AR - Ch3

4 (FHE~4F &) g 2,
piE[C]

5. &, %[5 #% ¢ [C][G]

6. [#c]) B 5k B ik
[C]

7. [£])] %58 5 ~[C]

3.I'm thinking of buying a hi-fi unit.

Ar ALY RE - 2B FEFFRA -
4.There is something wrong with the power
unit of my computer.

AT TR RN L e

5.Small guerilla units were fighting behind




enemy lines.

PRl N I A 1 TR o

n.

1 kT8, BT L
[U][C]

2. 8% T2 4% E[C]
3. [#] &= » &

4. [+]1 2#(r)lthe P]

vt.

n.
1. A cloud is a mass of vapor in the sky.
ZEX Y - BKT e

2. What amazing vapors a lonely man may get
into his head!

- BREDAGIEERL SR

L A%.,ﬁlm

vapor e % el Chb5
1. g i gk _
2 B 4. They have hysterics, they weep, they have
L
3. v the vapors.
: A Ve 18 ]FB};)\ ﬂﬁ—}% g ]4, lFE FF l’d ]F5 —H’—Zé ngﬁ'
Vi.
- Vi.
it E R .
s 1. Water vapors in the hot sun.
N KB R T
B e
2. What wavelength is this station on?
BT %‘_ & VR B
" | can't get this radio station any more. Maybe
wavelength |1. [4 ] & & [C] its wavelength is jammed y e Ch7
its wav is :
2. [R#] #&[C ,
e P I T Ry P
s ;J% 7 o
Vi.
vi. 1. These apple trees yield plenty of fruit this
1. A SEN(EF),A2 |year.
(e % o F %) TR EML ESTF SR o
2. W, BIR R 3. He was forced to yield the castle.
3. Ak i AIE TR B o
4. & Py PR, HE 4. He didn't yield himself to his rival.
. Vi. WG e g E Ry PR
yield - ch3

1. 1 A[Q]

2. PRI Ay PR [(+0)]
3. Byd ;i3 35 H[(+t0)]
4. i

n
1. ‘j{ﬁ s fE
[C][U]

Vi.

1. These fruit trees yielded poorly last year.
2 E s RHAEE K o

2.We will never yield to invaders.

NG g Ry IR e

n.

1. The current yield on municipal bonds is
10%.
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